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CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : D
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I TeT9H 7 GRT g 15 T
797 32 81
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyTUF H e & 3 G R9 T e T_Y 7O G F
B FOT-JikTl & G- 97 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 G GEl, JoT H BB
e [
Before beginning to answer a question, its Serial
Number must be written.
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(2) 4203/(Set : D)
o Fu-gikTm & diF 7 @rll G/ 9 7 88/
Don’t leave blank page/pages in your answer-book.

o JuTyRTE % iR _#HE o e T Al o
ST & [rd ST frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Ty T To FIT-UH GT SgeT fid)

Candidates must write their Roll Number on the
question paper.

. 7] ® FAY @7 @ [ TF Gred &Y [ F97-9H
?}Waaa?é qﬁw%a%ivswww#%?s‘ﬁw
&I TE 9T TE

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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A 3
General Instruction :
(i) & FeT ST &
All questions are compulsory.

(i) 3G Fo7-07 7 F7 32 Fo7 & 7 [F X G 7
gaoTFae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B CandD:
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(3)  4203/(Set : D)

G 9 : 57 @ § 1 716 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G 39 @ 717 @21 T 75 797 &,
9% J97 3 37 # 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
% 997 4 3% F &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 J97 8,
T9% J97 5 37 T &

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ goq1 & o=ikE fAwew _RE 7 &
34 @ G Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4) 4203/(Set : D)
goEg -
SECTION — A

1. 15.75ﬁ§%wﬁm2ﬁﬁm 1

Express 15.75 in the form P

q

2. fEod g x*-2x-8 & IH H THI HA
il 1

Find the product of zeroes of the quadratic

polynomial x2-2x-8.

3. THiE 2x-y=3 AR 4x+y=3 ¥ x A y &

e ® 1
A) x=1,y=-1 B) x=2,y=1
(©) x=-1,y=1 (D) ¥ § F§ T

The values of x and y from the equations

2x-y=3 and 4x+y =3 are:
(A) x=17y=_1 (B) x=27y=1
(C) x=-1,y=1 (D) None of these
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(5)  4203/(Set : D)

4. -0.1,-0.2,-0.3, ceoun...... A.P. 1091 T5 8 : 1
(A) -0.9 (B) -0.8
(C) -1.0 (D) -1.1

10th term of the A.P. : -0.1, -0.2, -0.3, ...........

is :
(A) -0.9 B) -0.8
(C) -1.0 (D) -1.1

5. 0.6, 1.7,2.8,3.9, cccoerrnnn. A.P. & HE-A<R FA
EAIY 1
Find the common difference of the A.P. : 0.6,
1.7,2.8,3.9, ccoeenininnnnn. .

6. ®IcHh § AT &) 4 | TRl 9= H AT F]d g, R
W H 9RT ¢ 1
ot N FHM WAl A & 9gHSl §9eY B §, ak
T T BT ..o & (SR, HTAR)
Fill in the blank using the correct word given in
bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are ........... .

(equal, proportional)
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(6) 4203/(Set : D)
7. BT ABC IR DEF &9&Y ¥ I AC = 19 cm &R
DF = 8 cm, i &I Bl & &=Tbell &1 (gua 8 © 1

19 361
) B e

38 "
© = (D) W & &g &

Triangles ABC and DEF are similar. If AC = 19 cm
and DF = 8 cm, the ratio of the area of two

triangles are :

19 361

A - B) —-
8 64
38

(©) (D) None of these

65

8. 3% O I gq W & @l W PQ &R PR ¥ IR

ZQPR = 46°, @ ZQOR & : 1
(A) 160° (B) 150°
(C) 135° (D) 134°

PQ and PR are two tangents to a circle with
centre O. If ZQPR = 46°, then £ QOR is :

(A) 160° (B) 150°
(C) 135° (D) 134°
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(7) 4203/(Set : D)
9. R ®M &l yfdf Hifor : 1

gq qU1 IHH W W1 & IFES g B
Fed &l

Fill in the blank :

The common point of a tangent to a circle and

the circle is called ............. .

10. (-1,-4) 3R (3, 5) fagalt & 99 & g 77 FRPTW 1

Find the distance between the points (-1, —4)
and (3, 5).

11. (3, -4) 3R (7, 10) gl & @™ acl 3@ & 7
frg & il 1

Find the mid point of the line joining the points
(3, —4) and (7, 10).

12. cosec 31° — sec 59° & M Fd ST 1

Evaluate : cosec 31° — sec 59°
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(8) 4203/(Set : D)
13. AABC ¥, R5/9® #oT B G899 8, AB = 24 cm 3R

BC=7cm%l cosCEFIII'FT%I 1

7 7
A Sz B 7

©) % D) = & B T

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.

The value of cos C is :

7 7
(A) 25 (B) 2
24

(@) (D) None of these

25

14. B9 21 cm 99 & T 99 % W 60° H H
ARG HA B AW FR SEW T BFUErE H AR
S it 1

In a circle of radius 21 cm, an arc subtends an
angle of 60° at the centre. Find the area of the

sector formed by the arc.
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(9) 4203/(Set : D)
15. 919, R a=E, Ak @R HAE HAT 13 m, 10 m

3R 8 m & A © : 1
(A) 1040 m3 (B) 1060 m3
(C) 1020 m3 (D) ETH § Hi3 &l

The volume of the cuboid, whose length, breadth
and height are 13 m, 10 m and 8 m respectively
is :
(A) 1040 m3 (B) 1060 ms3
(C) 1020 ms3 (D) None of these

16. I U B T AT Bl ST o1 A A6l B ST o
T 10 B9 & Aidehdr Sd Hif 1

Two dice are thrown at the same time. Find the

probability of getting the sum on the dice is 10.

guE -
SECTION - B

17. o= T B 342 ws omuREy e B 3

Prove that 3\/5 is irrational.
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(10) 4203/(Set : D)

18. §gWE 3x°+x%+2x+5 & x> +2x+1 § A HIFW
ARThE q AT ST DISTT 3

Divide the polynomial 3x>+x?+2x+5 by
x? +2x+1. Find the quotient and remainder.

19. 95 § 15 m A% W Ha9 H T [&GgH % 17 m
TR B TF Al g 81 WGl & U § WaT # g0
ST it 3

A ladder 17 m long reaches a window of a
building 15 m above the ground, find the
distance of the foot of the ladder from the

building.

20. IR tan(A+B)=+3 &R tan(A—B):iS,0°<A+B
<90°, A> B, d A 3R B 7| it 3
If tan(A+B)=+/3 and tan(A—B):%, 0°<A+B

<90° A> B, find A and B.

21. T g9 H WY =@ | 33.6 cm RF T I9 W
SERSIEINIEI I EIY 3

The circumference of a circle exceeds the
diameter by 33.6 cm. Find the area of the circle.
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(11) 4203/(Set : D)

gug - g
SECTION-C
22, & FHiv : 4
S % _oadr2:3.13
x y x Yy
Solve :
E—i=—2 and Z+§=13
x y x Yy
23. T a1 M & A § fEEe @HE 2% +x-4=0
% o S i 4

Find the roots of the quadratic equation

2x? +x-4=0, by the method of completing the

square.
24. 9¥9 1000 &9-QUTih! & R S i 4

Find the sum of the first 1000 positive integers.

25. AABC s9EY R@H BC = 6 cm, AB = 5 cm @R
ZABC = 60° 8l X % BYs & A1 Hioe forge

T AABC H d A # S T A 4
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(12) 4203/(Set : D)
Construct a AABC with side BC =6 cm, AB =5 cm
and ZABC = 60°. Then construct a triangle

whose sides are % of the corresponding sides of

the AABC.

26. &gl (-3, 10) AR (6, -8) & TS AW WS &
g (-1, 6) fhd ST § s &< &, 59 B 4

Find the ratio in which the line segment joining

the points (-3, 10) and (6, —8) is divided by (-1, 6).

27. 52 UKl Pl T YHR G %ol B TH e § 9 UH Gl
feRIT ST Bl 9T B 1 WiehaT ST i 4

One card is drawn from a well shuffled deck of

52 cards. Find the probability of getting :

(i) T T S EE,

a king of red colour,

(i) TP BH PE

a face card.
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(13) 4203/(Set : D)
g - §
SECTION - D
28. @ UQ FHAFG o o s QUi S hiforg, forees &
% AT 290 B 5

Find two consecutive odd positive integers, sum

of whose square is 290.

29. 4 cm Bred @1 @& g9 Wi ol % 9/ 95 | 3=
N IWNT B 8L, 36 G Tl @Al B = i 5

Draw a circle of radius 4 cm and construct
tangents to it from an external point using the

centre.

30. TF 99ad SHN T Gel HMIK Hl BA 39 RIfd § 40 m
AYF B A & el I H I (altitude) 60° F
gy 30° & Sl 81 UMK # Har g S 5

The shadow of a tower standing on a level
ground is found to be 40 m longer when the
sun's altitude is 30° than when it is 60°. Find

the height of the tower.
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(14) 4203/(Set : D)

HYAT
OR
GESCTIE 5
sinE)—cosG+1= 1
sin@+cosB0—-1 secO-tan6
Prove that :
sin@-cosO+1 1

sin®+cos®—-1 secO-tand

31. % AT & oaR® 9 & I B FAHR H D
s SR # B 12 m R SO 3.5 m 3 U®
JF TN MR R fd® FEE 125 m & EW
IR 21 fafesT &t enfyar s i 5

The interior of a building is in the form of a
cylinder of base radius 12 m and height 3.5 m
surmounted by a cone of equal base and slant
height 12.5 m. Find the capacity of the building.

32. MHNRIT IRERAr §eq &1 q1ed 3 i : 5

FESFTRIT | 100-150 | 150-200 | 200-250 | 250-300 | 300-350
FrSrear 4 5 12 2 2

Find the mean of the following frequency
distribution :

Class-Interval| 100-150| 150-200|200-250 | 250-300 | 300-350

Frequency 4 S 12 2 2
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(15)
gar
OR

frfReT SRERaAr Ses @l JIiegel §1d BT -

F- ST

FIRSTer

40-45
45-50
50-55
55-60
60-65
65-70
70-75

N WO Oy o W N
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Find the median of the following frequency

distribution :

Class-Interval

Frequency

40-45
45-50
50-55
55-60
60-65
65-70
70-75

2

N WO oo Ww
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